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Problem 1. (http://www.math.ucsd.edu/ rlpan/problems/pl.html)

We define a class of posets {P,} as follows.
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L(P,) is the number of linear extensions of poset P,. One can easily figure out what the Hasse
diagram of P, is by observing posets in Figure 1.
Find L(P,).

General problem.
We define a class of one-level grid-like posets {G|v,t,b]}, where v = (vi,v, -+ ,v,), t =
(t1,t2,-++ ,tp—1) and b = (b1, ba, -+ ,by—1). v; denotes the number of nodes in i-th vertical

edge, t; denotes the number of nodes in i-th top edge and b; denotes the number of nodes in
i-th base edge, endpoints not included. In all vertical edges, arrows are upward pointing and in

all horizontal edges, arrows are right pointing.
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Figure 2: Two examples of one-level grid-like posets

For example, in Figure 1 above, P, = G[(1,1,1,1),(0,0,0), (0,0,0)], and G[(0, 0,0, 0), (0,0,0), (0,0,0)]
and G[(1,1,2),(1,1),(2,1)] are pictured in Figure 2.



For convenience, we rewrite P, in Problem 1 as G[(1"), (0"~ 1), (0"~ 1)].
In general, we want to find algorithm to compute the number of linear extensions of for
arbitrary poset {G[v,t,b]}.

Solution.

For any poset P, we use L(P) denote the number of linear extensions of P. The algorithm
is somehow brute-force and recursive. The main idea is to break down boxes one-by-one from
left to right.

The details are as follows, for any poset G[(v1,--- ,vn), (t1, -+ ,tn—1), (b1, -+ ,bn_1)], we
consider nodes in the first vertical edge and the first top edge and the node at the top-left
corner, then we insert these v; + t1 + 1 nodes into the second vertical edge and the first base
edge. Suppose m is the number of nodes of the v; + ¢t; + 1 nodes that are inserted into the
second vertical edge, then apparently there are v; + t; + 1 — m nodes inserted into the first
base. Since at this moment, nodes in the first base edge are smallest in the entire poset and
already linearly ordered, we can safely remove the first edge. After that, the new poset is
Gl(va+m, - ,vn), (b2, s tn1), (ba, -+ bp_1)]-

Be aware that there are (”ﬁ;m) ways to insert m nodes into the second vertical edge and

bi+vi+t1+1—m . . .
there are ( oLt —m ) ways to insert m nodes into the second vertical edge.

Then we are able to obtain a recursive formula for the number of linear extensions,
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Getting back to the original problem, suppose we want to compute L£(Py), the first step of
recurrence is
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It’s well known that counting linear extensions of an arbitrary poset is #P hard. Fortunately,
we can show that, using the formula above, £(P,) is computed dynamically with runtime O(n?)
and space O(n?). Runtime and space is also obtained recursively.

Some results are given in the following table. Some of them are new to OEIS and some
sequences are already known. We will not bother to write down the proofs that the sequences
we find matches formulas on OEIS, although some proofs are nontrivial.
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